BES (thtd) ' - BEE 1 LEE YA b 141702 10" — 37 25' 12"

BEF= 2011/03/16 22:00 ’ PRI : 92km x 92km

fET—4 = GPV+#HRAE (2011/03/16 21:00) £T ' FrmE = 120.00 m
- e e e YA bhiHEOR  c @wALFE 11.4 m/s

EEm FEMH KEREE : DR
(40-km - S o ¢ CHEETFILE= PHYSIC
HEAvLalE KEAE= 2.00 km
[ FLf1)

FRHE R
' 10 m/s

200km  comwEmiEs1-—2



KEEE (39%) Ohks) =
HES= 2011/03/16 22:00 - 2011/03/16 23:00
G P V-+@HIE (2011/03/16 21:00) FT

[RET—4H =

401[E=I5“i('r;%ij'-T

-

f‘

g

**&éfﬁ B |

BEF 1

251 REE

Mo : 141°02°08” — 3725 18"
SEf : 92km x 92km
KrEmE = 1.00m

(RL51]

AR HIREFER Ba/m3)
1=5.00x10 ~11
2=1.00%10 "1l ==ccce=x
3=5.00x10 ~12 =mvomme e
4=1. 00517 712 mwammieemen

5=5.00x 10 ~13 oo

BRRRE=9.5x10 ~11Bg/m3
Tt S DGR 6.6 kmithsx (%ED)

StEETI)L&= PRWDA21
FRETILEA= BEETIL
[GrEEH]
HEA v alE KEAM= 1.00 km
s =120.0m
PABERE  =20000 MWD/MTU
- RTFAFEIERZ=2011/03/11 16:00
R BAsAREZ]  =2011/03/16 22:00
it B — 1= R |
M AE - iR (F8E) - Ba/h (Ba)
avEk :1.00x10 O (1.00x10 )

22%%%%%1—2



TRRUNF = ~ BEZ1 28F LEE O HrHE - 141°02°08” — 37°25'18”
HES= 2011/03/16 22:00 — 2011/03/16 23: 00 BiELZ =%HR 4E1; . 92km x 92km
SET—4 = GPV+§M‘HIE (2011/03/16 21:00) =T | [ RL451)

JEBT o7

ZRIRINIRE R EERR (1 Gy/h)
1=1.00x10 ~19

2=5.00x10 716 ecccacux
3=1.00%10 16 cmeommowm
4=5.00%10 717 w=ee—ew—-
5=1.00%10 717 emoe e

BA@ER=15x10 194 Gy/h
TR ADORE 3.0 kmiis (<ED)

FEETILE = PRWDA21
FRETILE= BEETIL

(GEEIEY
REAYIalE KFHE= 1.00 km
BHE =120.0m

PABERE  =20000 MWD/MTU
[RFIFEIEREFZ=2011/03/11 16:00
FOHBIBAES ] =2011/03/16 22:00
W E— F=BAMEHRH
M #TE - R (8% © Ba/h (Bg)
FHR :1.00x10 0 (1.00x10 0)

2 2B EHIRR 1 —2



